IR

[7HE]

=
i —_—
Z5ICt
. T . Link
Distribution Support of distribution Typical uses
name
Normal real: (foo, +oo) Linear-response data Identity
Exponential Negative
real: (0, +oo) Exponential-response data, scale parameters .
Gamma inverse
Inverse Inverse
) real: (0, +00)
Gaussian squared
. . count of occurrences in fixed amount of
Poisson integer: 0,1,2,... ) Log
time/space
Bernoulli integer: {0, 1} outcome of single yes/no occurrence
count of # of "yes" occurrences out of N
Binomial integer: 0,1,..., N
yes/no occurrences
integer: [0, K) Logit
Categorical | K-vector of integer: [07 1]' where exactly one outcome of single K-way occurrence

element in the vector has the value 1

count of occurrences of different types (1.. K)
Multinomial | K-vector of integer: [0, N] out of N'total K-way occurrences

Hap7t olLtel AeE el EA0[2t 511 27 0]yl ZR0l= TS 2=t Bt

inary dummy C{0| B4

GO 2 SEH YV 588, 23
D =0 male, 1 femaleO|2t5txt.
Y=a+bD+bX+by(X*D)+e

LS ZHRH Y = a + b, X - EHa,7127| b,
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Link function,

XB = g(n)
XB=p
XB=—p"
XB=pu"’
XB = In(k)
o-u(s)
o)
Xﬂ:ln(lf#>
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(Dependent Variable)

Weight Gain
OLS ghHof 2f
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=
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=
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aL? L u Q=M
S| control #44~, OH7H mediator B4+, W2 confounding =2t SiCt.
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1In(Q) = In(a) + pin(L) + Aln(K) + In(u)

(Confounding Variable)

5
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2|72

=3

Yi=a+Db Xy +bXpp+ ... ++b,X;, + e, 0t8)e; ~ iid N(0,6?%)

1 x . X
N 11 1p ba (2
=1 2 - x T4+l %y=Xb+e0)e~MNV(,6%)
Yn 1 X1 xnp bp €n
« Xt ZF2HOHE PES flet A i = 1,2,...,n T EE2| 37|

« Y : &2 dependent 124~ BFS response 14~ LHAS endogeous B4~ 2T target H4~ - 2 HH A= SHEH
0|0 Y2 E MELCHD 7Yttt

« X's : =2! independent 14>, A% exploratory #4~, 2|4 exogenous B4~ 0| predictor, feature 4> -

&
ZHL deterministicE SFE#HP7HOIL |22 23 etpE 21X 200 29 LHOj|M ZHEICE

. p - D% L mR{Els oS4 Tl

1o
FEl
|-D:
>
5
g

- o - AH(intercept), 2= 0| &M X 50| 0 2
« [ OIS X, 2f 3| AlS - of| S X 7t of Tl S7Fe oL S5 H Y| S7I2HHO|E Al)
‘¢ RXFet noise

71’ assumption

Qxt7bd e ~ MNV(0,0°1)

220 S el dIEEHX5)S0 2ot HE[X| otz Fi2, 2Af0| Yl SAZH0| Of[2f 52

& (29 L] 0|58 ~01] ofsf] SHE gtS Feloh &5 = US)

& SHA 4o IEHHE)2 3| 2Y0| HYoh= HEat ZF0[ HYSHK| Rot= Ha(alaf4=0|H gi2)
LIS-0] 152l HIZ 0|8510{ 2¥o| Relds AXs!T)
=24 (independent)

exfgE M2 SEOICt Rik= M2 geks FX| =0t SR 72 AMAE Ho[EA A =ME 2

= colef) Z20ijet K3

rO" J|>I

g
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A (nomality)
AEM F-AEE 2 Y Heky), A Ay
ol Reld dds ?letr—AgS M8t -4}
=3
7| 2I5101 BtEA| 25|t <
P
Q2
oxfgo| YpeEs HEng 2xwe 2] TN L <F A
i Yi7)-a- bxiz)
MVNXb,o° ) Q222 I m M- 830

\ Yi5)-a-bxis)
= HA “Y()-a- bxty)

rEZE MEE QXYoo Q1510 &
2 2 2@ A X D) Lol SdofLt

Y
2t J2J0jA 2 4 U0l clofe 252
(=2

\
A ECE B0l HEs 2E A0IM S 211 ¥t-a-sxn
oIl MaET JxlS [ 12 135 w15 16 ir 1§ f XD
EOH:H Spyp=aigs B |I|-‘—E|-' total length

S&E4H(Homoscedasticity)

Y S (X, Y)EBDBOR uy, pu, B2 07, 0; S RN MRS p

E(ar(Y|x)) = o;(1 - p)

€
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AP S Scatter plot

Off x| H|O|E

import pandas as pd

import numpy as np
#smsa=pd.read_csv('http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/
LinearModel/data/SMSA.csv"')

smsa=pd.read_csv('http://www. users.miamioh.edu[baileraj1classesz
sta363/DASL-SMSA-commasep.csv ")

l.city: City name : 60 U.S. Standard Metropolitan Statistical

4 .RelHum: Relative Humidity
5.Rain: Annual rainfall (inches)

[AtE1 A0 67K

7 .Education: Median education

8.PopDensity: Population density

9.%NonWhite: Percentage of non whites

10.%WC: Percentage of white collar workers

1l.pop: Population *)QIFEEel S=E0] 0 SH0M H|2 Sl
12.pop/house: Population per household

13.income: Median income

14.HCPot. HC pollution potential

15.NOxPot: Nitrous Oxide pollution potential

16.S02Pot: Sulfur Dioxide pollution potential
: Nitrous Oxide

H|0|Ef TXZ|(1) preprocess : OJAHX| FICh

smsa.isnull().sum() #check Z&% : income,pop 17 &A=t =X &l
smsa.dropna(inplace=True) # ZZ7f TA| 170 A<

smsa. shape (59, 17) 597 &, 1774 @ w4

ZAO|ECE XEstn

smsal['city_name'l=smsal['city'].str.split(',"',n=2,expand=True) [0]
smsa.set_index('city_name', inplace=True)

city JanTemp JulyTemp
city_name

Akron Akron, OH

smsa.head(3)
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IR (AEE]

A 7HE

21| £HY ¥4 O|0|ES 2X19 S7t0i| HaIs10]

H~0| Sl 2AIS OffeetCt

[

1 0
=

I
=t 710| Bl BIAIS ECt - 2EH40 ol S

4 MO Tt AJZE FIh: 2/ T Sl oS4 517128 sj714 QoA Zixo= siolsirt
« CHZ Aof| LIEfLH 5|AE 12402 X2l Slolstn TQ A| MRttt M Hare Al

tmp=smsa.iloc[:,1:17].drop(columns=['pop', 'Mortality'])
df=pd.concat([smsal'Mortality'],tmpl,axis=1)
df.shape,df.columns

-

m.[u

He2 MEE ‘Mortality' 48 712 2ol 58 - 4
JTL

A Al Halgt

Ooll JH]
me

|J°I'

((59, 15),

Index([ 'Mortality', 'JanTemp', 'JulyTemp', 'RelHum', 'Rain', 'Education',
'PopDensity', '$NonWhite', '$WC', 'pop/house', 'income', 'HCPot',
'NOxPot', 'S02Pot', 'NOx'],

dtype='object'))

A
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(2]7=M] (LHEE]

import seaborn as sns
import matplotlib.pyplot as plt

sns.pairplot(df, kind="reg iag_kind="'kde")
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for k in range(0,df.shape[1]):
if shapiro(df.ilocl[:,k])[1]1<0.05:
print(smsa.columns[k],': Not Normal')

$WC Not Normal
pop Not Normal
pop/house Not Normal

HCPot Not Normal
NOxPot Not Normal

import numpy as np
shapiro(np.log(df['HCPot'])) [1], shapiro(np.log(df['NOxPot']))[1]

gEL92l 270 HCPot (ReZEO| 4.6%= 2MH5HA| 2X|2F), NOxPot EZI1FpHete
yAEES =9
[> (0.046230245381593704, 0.45190250873565674)

A 2SI S E H|Q5HES

df['log_HCPot']=np.log(df['HCPot'])
df['log_NOxPot']=np.log(df['NOxPot"'])

df_clean=df.drop(columns=['HCPot"', 'NOxPot'])
df_clean.columns

HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [(8/66]
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=k |

AR
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#Using Pearson Correlation
pd.options.display.float_format = '{:.3f}'.format
df_cor=df_clean.corr(method ='pearson')

2L Mortalityet o
B4 AP TIEH JHsE
LIX| O|SH 70 Ao

oS A o =
ET?AIE_El-E

Mortality JanTemp JulyTemp RelHum Rain Education PopDensity %NonWhite %WC pop/house income SO2Pot NOx log_HCPot log_NOxPot:

Mortality [IIOllF0'01677 0322 011017 0.433 FUECENN 0.252 0647  [E¥rEjoses  EPEEJ0.419 000850125  0.280
JanTemp -0.016 [KJ0.322 0086 0.059 0.108  [EGIG7Z6NIN 0.459 0.208 FOBZ5I 0.198 [OIO94] 0334 0227  0.81
JulyTemp 0322 0322  [INEYZI 0.472 FOI2690 F0I0097 0.602 0,013/ 0.257
RelHum 0101 0,086 FZZINN (KN -0118 0.5 MG EONSMN 0.0'5
Rain 0433 [0.059 0472 0118 [ EZE 0084 0303 SO OREE I -0.362 [0 =il |- ,
MELILN-0.508  [oN[e: R0 50 [oREI3N-0.473[1.000  |-0.236  [-0.209 0.486 FUEECINN 0.507 [EOPPEY0.229 0.176
PopDensity 0.252  F0I076/1 -0.009 017497 0.084 012360 (LI F0'007 0.253 [FOI671=0:003 0.422 0.158 0.264  0.339
%NonWhite 0064710459 0602  FO/19'7 0.303 F0:2097 £0:007 " (MM 0'057 0353 F0N0iN 0160 0.019 0.148  0.208
%WC [FOI289010.208 -0.013 0.015 -0.114|0.486  0.253 FOI0570) () FOS47 0.366 [F0I063] 0.129 0162  0.108
pop/house 0368  [UEFEJ0.257  FOI441 0199 FOEESNN FN 0.353 -0.347[1.000  |-0.295 [Foioi[0}]-0.449 [Fuprii ]
income FOR83MN0.198 FONGINM 0.128 [EOB6Z 0507 00031 EOHGTNN 0366 EORZSSHIN I 0:0687 0.312 0292  0.245
SozPot 0419  FOGANI-0071 OII61-0131 029NN 0422 0160  F0063-0010 0068 [KIIJM0406 0569
NOx ] fOB3 -0.053 EWIEo0.229 0158 009N 0129 ERFCRN 0312 0.406 [N 0738
log HCPot 0125 0227 [EWiEJo.1s5 EXEH0.176  0.264 0148 0162 FO224WN 0292 0569 (07380 TI OEEE

log NOxPot 0.280  0.181  EOIBG3MM 0.097 [EOE88 0.032 0339 0.208 0.108 F0123777 0.245 [0:681 07057 [EER)

cor_target=abs(df_cor['Mortality'])
#Selecting highly correlated features
relevant_features=cor_target[cor_target>0.3]
relevant_features

A7 52 oSHS -

— -
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logarithm exponential model

reciprocal - power model
X;
{2 . M #45t | inear Transformation
o2y Al Yt XeHst
Power y =ax’ In(y) [n(x)
Exponential y = aebx ln(y) X
logarithmic y = ln(axb) y In(x)
| o 1
Reciprocal y = 0+ bx ; X
Square Root y=a+ b\/} y \/;
Square y = a+ bx? y x?
SHA|

Thee | 2Y0|ME SHEHESO| HHHE0| 7isoiLt, LS 2o = 271S5ITE Aot of oS4
ool e ds +-HolH LE olls#Heo M 2APVt eli=E &+ Q7| th2O0]Ct

T SO =T AA
CHE2 0= MY Hek2 o SHa0f =S|, AICEFEIHI0[H, oSVt B2 2 MM Tt E
O&}X| oIt
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(2]7=M] [OLS %]

OLS =38
7|.|L_=I
FXIeX} Francis Galton2 XM Z01l= sweet peas {2101 CHs A-SICFAHA7 |, 227 (L 710]l= 1.08HH
5101 £ 7(Qt B S LRIS) WXIHEE PHE0 X1 7|E oS0t = Al SfICt

L7 |7H B0 7Mh2 ER0ll= (&) 2 A7 ERSILE 22| 7(7F OFF 2L A2 2 AH42| 7|= &
*JE.QE HAKR|HLE ZOFX|X| 211 Q17 7|2 WO =2 3| 7|(regress)SHt= AMME LH| EIRACE

Plaze IX.
-
RATE OF REGRESSION IN HEREDITARY STATURE. I FORECASTER OF STATURE
Fig.(a) | ! Fig(b)
HEIGHT The Deviates of the Children are to those of DEVIATE
. m their Mid-Parents as 2 to 3. n
inches s inches
/& [+
71 /o
oK s
71 |4 When Mid-Parents are taller than mediocrity, QQ// [ D
their Children tend to be shorter than they. 2 i
A1 —
70 !
ol =z -
»
L1 +) = o >
69 g = | 3 3
§ | m m
. o o
o = —
e |1 [ st | 70 [ 75
L H| H H
1 -
-1 0| H u
7 N A 170 B B M 5 [T 70
66 X When Mid Parents are shorter than mediocrity, || = L] ; ] :H H
C their Children tend to be taller than they. c ] sd || LM F
Q 65H4 |H so H 65
> - 3 - - —
65 H - -
A~ | 1 H H
H 4 60 H- H ss €0

OLS g+

Karl Pearson(|0{Z &F2tA|2 X|OEX}) ORHKX| HRI0=E 7|2
0|82510] 2M ZAAlE =&5h=4f

22 NRFIRILCE O |

AXEEH(Ordinary Least Squares) P02 SHT =

(e

)
HEHSZ 71 thHEsk= &M (best fit)2 HEA &t 212! %
7t? &

o

e = el n
CIOIE (x;, y,)E &&510 TS0l 718 AMglet 2Me| 3|7 g Minimize: . (7, — 5 )2
A== (a, b)E 8ol 0|2 0|80 FHHS TS A Least Squares Method 7 =1
_ o y-intercept X1 .

9, = @ + baxjfitted value) TSIC} QX}510| Chist 2H7t0 x (independent)
e, =y, — y;2 A& 2Mo| Rol8S HBIH.
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(517124) (OLS

off M2l

- 2 HRE (y, — $,)2] §2 00|Ct 17 of HoiZte AFRSHR| gLk

- M2 48X O 2 CH27| £IX| $to D2 1)3|7|M0fl A B0 Blo{L42 =2 Tj|dE|Z =1 )45l oz
CI127| 4|2 MBS AtEsict

22| 5

Igl}ﬂnQ = Ze,-z =Z(y,- —0—Bx.)’

0 . . g
22 23 (y; -6 - Px;)=0
o zl(yl Px;)

% - 23 (3~ fix) =0

gama B A
ﬁA _ E(xi -X)(y; =) BA B Sxy
_2 = A= I
OLS F5| 2= Sy @=y-P
Z (xi - x)z
MNEAet 2 r = b
Y i—y)?
Z|CHREFH2F Maximum Likelihood Estimator
y, ~iidN(@+Bx,.0%) 0|02 erstas cignt Zone SEa4 Flriet - OLS 25T £
L(0, B3X1,X0 5000y X)) = (V1512 0000y V330, B)
2
1 (yl - - ﬁxl)
= exp( )
\J2no 20 2
2
1 E(yi —a Bxl)
=( )" exp( )
\ 2O 20 2

€
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[3]7=M] [OLS %]

GAUSS-MARKOV Theorem: OLS is BLUE

3| A I=01| ChEt OLS =M X|= BLUEBest Linear Unbiased Estimator)0|Ct. & 2E M3, 28 FH2F S A
2 4k minimum variance)E #=Ct EE87t X[=H0|2E MLE= CSSO |11 EHFHEZ0|22 Rao-
Blackwell &2[01| 2[3H MVUEO|CF.

LY xry = 0 RER| X8 7HERIZ Aist 71 E@e 00|t
Zf}iri=O:@Iéilyi%7%i|§71l*f°w%% 2 00|ct
- MBHEl S|7|RIME (%, )2 KILiTh

CHS2|7 OLS =™ AlLt

#AURH:y = Xb + ¢, (1) e ~ N(0,6°1,)

¥ e b, Loxy xp n xy,
y = Y2 e = € ’b= b2 X = 1 Xo1 Xoop ... xzp
;
In nx1 " nx1 bp 1 Anl Xn2 oo App
(p+D)x1 nxp
[ n Z T Z T2 Ce Z Tik i B Z yz
x> x DTk ... D, Talik 5
m. .
XTX — Emﬂ Zl‘ilmiz 250122 N Zmnmik X_Ty _ 2l y’t
| M@ dwazia Y Tk ... 2Ty | | > ziky; |

min , _min , _ min ,
a,bl,bz,...z(ei) Tp €e= p U XD - Xb)

Q=Q- X_b)’(_y —Xb)=('—bX)y—Xb)=Yy—yXb-bXy+bXXb

OZ 2|43} 5= AR S) bE 37| 2l HYAA! normal equation TR 24T
%, .
ag - Xy -X'y+ 2X'Xb = 0,012 H2/5tH b = (X'X)~'(X"y) OLSO|Ct

A
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IR [OLS 7]

OLS FHX| MA : GAUSS-MARKOV Theorem

3| HAI2=01 Chat OLS =™ X|= BLUEBest Linear Unbiased Estimator)0|Ct & RE M3, 21 FHEF S %
2 B4t minimum variance)E ZH=Ct 2287} X[+F0|2 2 MLE= CSS0|11 2 HFHE0|ZEE Rao-
Blackwell H2|0]| 2[sff MVUEO|LE.

@)
—
wn
T
(020l
A
I@o
A
><
\/
/:
s
<
N
rlr
>.
@
D°|'

t2~0|C} Linear

= 2 M8 2YAIZ L’ = (K + C)y2telit B K = (X'X) X’

() godgeEsorsioz E(L°) = E(K + C)y) = E(Ky) + E(Cy) = b + CXb

V(%) = V(K + C)yl = (K + C)VO)K + C) = 6* K+ C)K + C)
ol2 Halst® V(%) = 6X(KK' + CC') = V(b) + 62CCOICt

C' Ce= LEPYX[EE (positive semi-definite matrix)0| 22 S0| & 4 Q122 OLS FHX|Q| FHEL0| 7+
MLt 1222 OLSE F|ARA EHFHZHVIVUE-Best Unbiased Estimator)0|CH (QED)

NI
ez
h
oA
o
t
P
| S
p—
Il

E(X'X)"'X'y) = (X'X)"'X'E(y) = X'X)"'X'Xb = b

FHEU V(D) = VX'X)™'XYy) = (X' X)'X)e (X X)X = o> (X' X)™!
FER| V( b) = A(X'X)"' = MSE(X'X)™!

of&ta XK =RQxt 5(b,) : MSE(X'X)™'2l ketw czieia ko] HiZ 2

MLE &%

Qxtato| 7t e ~ N(0,6%1,)0122 y ~ N(Xb, 6°1,)0ICt

1 ’
y ~ N(Xb, 621 )0|122 284 L(y; X, b, 02 « ¢ 120 X030z

of

20 o2 F[tet ol MLE ’Q’HiE

0

ﬂ ( — Xb)'(y — Xb)S El45} 1= OLS 8x[et S

USICE 12|10 MLE= MVUEO|E2 718 £2 8 X|0|C
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5720 OLS FHAIS ChHst 284 § = Xb = X(X'X)™'X'y = Hy

[Ho|lHat 3P H = X(X'X)~'X’

- HAUZE2 tHERIE(H = H)0| HSAZ(HH = H)O|Ct

= & (idempodent)0|2} it
ORok AL BS3HZ0|H A" = A2 2L 2 Map)7F Ml

ZXtresidual r; =y, — 9,

TEX|2 XBtX|9| XIO|2 R0l Chst FER|O|CY.

?
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HAIEMA M2
[RLEY Ty Ry B — T

SEUA0| BMENS |2 DH0| AEHS T MS5HX| 2ot QAHEOR 0|25} 5111 HBHSO0| QX
S0l 8lst S=5| 2LHH 2|2 H0| HESITILU(RLISH L) ZHEBHT,

bl 0
b 0
P ) pxi Pl SST=3(Y;- V)2

2
CHESZ FE - MO S| 3 A= RelSIT 0] 1
N

& by # 00ICk y s

VAN
SSR =X(Y;- V)2

== variation decomposition

TS| 7PEsE 272 20| MEets 2|0[gHt,
SSR = )" (5, = 9)* = y'(H - (1/n)J )y
QRS Error SS

240]| 2o 4FE[X| Zote B&

SSE = ) (=9 = (v —Hy)(y = Hy) =y = H)y
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LSST = y(I = (1/n)J)y = =38+ ye| O[XFEA0|Ct

- QRfEI0| HA 7K Ql5t0] y ~ MVN(Xb, 61 BTHEES 202 0[xfEAIRI SSTE AR
o

= rank(I - J/n) = n — 19l y?22= m=ct

Ny
T

QRMHE 22X SSE ~ v (n—p — 1)
.SSE = y(I - H)y= 254 yo| ofxfirlo|ct

Qxfate| A 71E0l| 2510 y ~ MVN(Xb, 621 YHHEEE 20 0x[&A01 SSE= AR
Trank(I—H)=n—p — 19l y?2R= 020}

XRE 25t Cochran HE|

« SSEQ| A== (n — p — 1)0]CH

« SST ~ y(n — )= M2 SI2ISSE ~ y%(n — p — 1) SSRE LiFT 1 SSRE yol Ojxf&4]
0|22 710MlZ BEE W27 Cochran H2I0f| SHAFRE= (n — 1) — (n — p — 1) = pOI St
== 7H4=)0|Ct,

+ SSR ~ x*(p)

g
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LHQAIHE
SSE ~
MSE = QAR 620 X7t - 62 = MSE
n—p-—1

MSR = —— 83 8RIHS  E(MSR) = 0> + b* ) (x; — %)* (€57 Z9)

SH|Alw=7t 02k XtO[7} EALE 0| F = glol X072 B2 2l7# S 2 AHEICH

3| HHSO0| HZICH= A2 A7 Reloh=E7 KIEH2| X{0|7t Eih= AE 2lnftt:

EoEAE F- A A USSR R A8 Hy: b =0
- VM - 2 322 RlGHK| G4t <=> 2= 0| EH42| 3| 7|AlI5= €42 00|Ct.
<=> y = XbMIIA| G} <=> SH¥s= 8 BE 0582 SEER] G=rt

<=> 5|7AI HIE| b & Q08 5|74 Ho{E ST QICE
CAYEAR TS = M—SR ~F(p,n—p-1)
MSE

JP{0E F-HE 2t FRIH0] 7|2t
Chet RolS -2 0/8510] Lot B

SRHE(SSR=yH-Umly  p e SSR Lo MSR
P MSE

3 ~F(p,n—p-1)
RAEE | SSE=y(I—-H)y n—p-1 ysg—=_—>F 1

ZHE SST=y(I—-1/nm)J)y n-1

@ HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [(18/66]



http://wolfpack.hnu.ac.kr

AR - OIS X QOISR QL Hy < by = 0
 CHEIZH - O E4 X, = ROISICE Hy : by # 0

~tin—p—1)
s(by)

o584 XK 2™t (b)) : MSE(X'X )10l ketni cizteia ool Rz

SSR(X2)

Ful Model OfE¥4= 7= p

Yi=a+b1Xi1+b2Xi2+ +prl-p+el-

Reduced Model

AR U OIS HILTL RIBIR| QUL ROIBHR 242 OFEL 7

olof 34 27K &t (X,, X,)7HR2I5HK| QTis A27ke H ¢ by = b, = 00| EICk k = 2

Reduced model: ¥; = a + b3 X + by Xjp + ... + +b,X;, + ¢

=7+ Xk58 Extra Sum of Sqaures 2|

« SSR(X1, Xp, .., X)) Yy = a+ b1 X + b, Xp + ... + b, X, + ¢, FARHO| 37|(ZH)HS
- SSE(X), X5, ..., X,) Yy =a+ b X + b, X, + ... + b, X;, + ¢, AT QA{HS
- SSR(X;|X;) = SSR(X;, X;) — SSR(X;)

HHEAR Hy: b, = 0, forj = 1.2,...k

(SSR; — SSR)/k ) )
TS = ~ F(k,n —p — 1), k = {27101 HHE 51214 021 0S84 T
MSEy.

- ReducedModel Y; = a + by Xy + b, Xjp + ... + b, X, + ¢; ZHOIM 7|27H2 0 ZYE 0| 5
= HelE
Hy : b, = 0 0IEH+ X, 92ld 48)
« Reduce Model : 2D &0 X, &0 X|2|=
SSR; — SSR,
MSE;.

TS =

~Fln—-p-1=n—p-1) a8t 52)

A7 HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [19/66]
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Sequential =Xt X5 SS, Type |

o2 M OISR =M 2 Ri58fo| EHEICH

Sl=EH: Y, =a+bX; +bXpp+... + b, X, +e
- 2 =AM0f| [HE HEHS2| X017} US

- X, SSR(Xy | X, ),
® Xp : SSR(XP |X1, X2, c e ey Xp—l’ﬂ)

« EX|H4 D0 =2 AIREICEH

Type II: hierarchical or partially sequential
2 RE 0547 DOl H s Hao| HE

o
=}
« WXIRS0| U= HR0ll= Type lI2F HO[SILE.

Type lll: marginal or orthogonal , partial

Ef 2 XSEt S FEASE HEO|LE WA Rli= 9 &0
A
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(2]7=M] (FE]

A5 HojE =

shape,df_clean.columns

=8 Cllo|E]

((59, 15),

Index ([ 'Mortality', 'JanTemp', 'JulyTemp', 'RelHum', 'Rain’', 'Education',
'PopDensity', '%NonWhite', '$WC', 'pop/house’', 'income', 'S02Pot',
'NOx', 'log HCPot', 'log NOxPot'],

)

import statsmodels.api as sm
y=df_clean['Mortality']
X=sm.add_constant(df_clean.drop(columns=['Mortality'])) #add

K|+ Mortality,dS#H @ 1474
1&7|2(-), 42 (+), HHHlH|g(+) ,AFREHIZ(-),23_N0x

OLS Regression Results
Dep. Variable: Mortality R-squared:  0.779
Model: OLS Adj. R-squared: 0.708
Method: Least Squares F-statistic: ~ 11.06
Date: Sun, 25 Oct 2020 Prob (F-statistic): 3.52e-10
Time: 07:05:52 Log-Likelihood: -282.62
No. Observations: 59 AlC: 595.2
Df Residuals: 44 BIC: 626.4
Df Model: 14
Covariance Type: nonrobust
coef stderr t P>[t] [0.025 0.975]
const  1411.8987 274.988 5.134 0.000 857.697 1966.10C
JanTemp -15872 0.747 -2.124 0.039 -3.093 -0.081
JulyTemp -2.4543 2029 -1210 0.233 -6.543 1634
RelHum -0.1893 1128 -0.168 0.867 -2.462 2.084
Rain 1.2786 0.568 2250 0.029 0.134 2424
Education -6.5830 8.623 -0.763 0.449 -23.961 10.795
PopDensity 0.0037 0.004 0.897 0.374 -0.005 0.012
%NonWhite 5.1545  0.945 5454 0.000 3.250 7.059
%WC  -2.0242 1.191 -1.699 0.096 -4.425 0.377
pop/house -56.3598 39.773 -1.417 0.164 -136.518 23.798
income -0.0004 0.001 -0.3630.718 -0.003 0.002
S02Pot 0.0998 0.115 0.866 0.391 -0.132 0.332
NOx -0.2581 0.191 -1.350 0.184 -0.643 0.127
log_HCPot -21.8543 14.858 -1.471 0.148 -51.798 8.090
log_NOxPot 32,9805 13.847 2382 0.022 5.073 60.888 A}

[ =]
[
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(3724 [£2)

[2E2]

import statsmodels.api as sm

from statsmodels.formula.api import ols
fit_1lm=ols('Mortality~JanTemp + Rain',data=df_clean).fit()
fit_m.summary()
sm.stats.anova_lm(fit_1lm,typ=2) # Type 2 ANOVA DataFrame

SA=EE Mook e aFe gou Hwg ) ¥o g
U8 ool 3o wc(uRPRUL o8] ToEA o) (cous 9E B2 ¢

*x) =7t 1070 Ol5tQl E2 AtE3h= HE[SIC,

daf sum_sq mean_sq F PR(>F)

JanTemp  1.000 57.505 57.505 0.018 0.895
Rain 1.000 42723.086 42723.086 13.059 0.001
Residual 56.000 183211.934 3271.642 nan nan

OFX|2h 0|5 (Rain) Q| XHEE2 SSR(Rain|u(constant), JanTemp) SL5ICE.
=X ss : SSR(JanTemp|u)
B2 ss : SSR(WJanTemp|pu,Rain), 12HBE & Type 10| AL},

sum_sq df F PR(>F)
JanTemp 387.127 1.000 0.118 0.732
Rain 42723.086 1.000 13.059 0.001

sm.stats.anova_lm(fit_lm,typ=2)

Residual 183211.934 56.000 nan nan

Full Model vs Reduced Model 4%

Ful 28 : A SRS <-(187 12 727 |2, 498, &5)

REduced 2% : MMUIEX <1872, 727|2) : RelHum = Rain =0

import statsmodels.api as sm

y=df_clean['Mortality']
X_full=sm.add_constant(df_clean[['JanTemp', 'JulyTemp', 'RelHum', 'Rain']])
fit_full=sm.OLS(y,X_full).fit()  #Full model Fit
X_reduce=sm.add_constant(df_clean[['JanTemp"', 'JulyTemp']])
fit_reduce=sm.0LS(y,X_reduce).fit() #Reduced model Fit
ts=(fit_reduce.ssr-fit_full.ssr)/fit_full.mse_resid #test statistic
import scipy.stats as st

1-st.f.cdf(ts,1,fit_full.nobs-5,0,1) #p_value

Q0[320] 0.05ECH RO} HTIM 7|2, (&%, Z9E) EA0| SO5HK 2TH HojE
_ SSR SSR.)/ k _
Qolsict. 75 = & — %) ~F(k,n—p 1), k=2(HE7H ME ofSus
F

> 0.013239157499277288
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(&171=4) GESSE)

o MEH

7HE

-« Z4E0ILt O|20]| fal] SEH(Y)0f| Qak2 DIE A &2 o|S5H4-E MElSHD MY 3|2 Ys Adsit) =>
HIO|EHE o8 = 5|2 YO| S|FHAE FHotL(OLS) 2AHRAMO| F-AX0]| 2lal 23ie| FoldS ATt
CF(HO :B1=p2 =..=Bp =02 =0|ZHI=RC[SHK|RICH => F-A™(EAEA) At HF7HE0| 7|2 [H -4
&2 0|&310 2|?|74|—|— OllsHp)2| Rl HES SiCt:

« QZA9| B =HOccam’s Razor) : AN 2| Y2 |(Principle of economy), &2FA9| 2I2|(Principle of parsimony) -
D= AE0| SYsICiH 1 ZiChst 20| £ MO £, 3|#20| st YHE FLHHAEE 20| oS
0| HEE MYok=HIE) M2 oS 20| £[Me| ZHo|Tt

« 72IGHK| g2 Ol FH-2 S MQlSHEA B BTt RIS Wi7kK| AILEHTE ofE o F5H2 Ml
WP 71 wolohX| 42 o FH, F - HESAIZ 20| 7t 22 A(p-value?t 71 2 S MIQIRTH

03 Q0|M X _F AX

;l|$7w DE 0 Zt147} QOI5HK| SLS - MEHE|B! A Z251T ARIFA0| 7 [2HE0] B L) A oS
= HOJT SILIZHE Rol5iE Lt T2 Hoizict

He Ot -t A

O[BHX| 52 AMTHE BILI TIRIe ROIEHE0| 7Hs 274t -SARI0| 7 B AR 23 L B of
St
=

ol5tx| 2
EHAT} 0I5k kK| HHE &[G

A
T

x40

LSS 240t =M 2X|

CHE =2 WtMofi= CEEsSMd TIES BN 2ot AL 0= BHAIE HMsl: S Z1E ¥= F
7t 0|22 7HH A(H-ME IE S BN AX|H s SMd ZES ofH ElE o] = 5015)S ?lot
R

0 W2 MEHS DIR{3H= Z40| BRI

HORA HTAO0| T3] G(ST 4} AT 0) 0S4 TE0|A Zxfei| oo 0jn|
1T [m}

S48 HYBIOR ME MR HRs gk J2IHAR B2 w4 EXI6HH IEE 2R} 2y

= =

€
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IR Gl

SAZ0IE

) SSRP

ZX A4 Determination Coefficient Rp =
ST,

AYAE BYLR| p7i OSHL-SE0| SHEHSO| (B)HS(SEH USSR HS)0 it A=)
= LIEHH= 250|222 HAMelo| X|E7} SIC}
AL F7(7F70%0|H MHE 0|5 MHZH0| S22 80% OA0|H DR SEoH |0 kst 12|
1190% O|A0|H 80| 77t AHEES 1R - Il M E o SH40O 2 SHHA HES IR & 0| SeH(A
) & US
O|SEHo| T2 AR O B 50| MYHH0| =271 ¢l LOIE= AIEE £ oL ™ EAIR
2 =XoHK| = TFHOo| QUCt
T2{LL Ol S 7T SIS M O 28 A= Shat S716E 2 H4-0| 7H4=7} CI2 A20|l= CHEe| -
2™ H4-E A=25t= 20| &Lt

YA adusted R, = 1 - ( ( - b |
n—p-—

23 (adusted) ZEZ4-E ZE40| SRRISIT] 242 05147 MRIEIONT 814 B7HS S5t 2
3104 il 2
SSEQ| 24Tt QR XIREL| ZAT} A4YE| DR MERio| X E2 T2 e of

o
LICE 22|20 Relds 7:1’8%* HESAZO| EXHSHK| G4=Ct

LS —

L

FHEBEAE OS84T0 77t M2 CHE 32| BES Hlwe [ AL EICE

SHEHSO| O|F 22 =0|= 2SS MElish= Z10] 24 =40[21H 0| 2HE 0|18510] 2|M Zag oM &
SSE (SSE —2*p*MSE)

Melow C, = ———-n+2(p+1),C, =
MSE n

Mallow C, Z40] Gl TH(pet 2Afet 29 B2 817 2302 Beisic
OfEt5] O] SO 2} 0fSE140| ROI0f e ZES AMAJSH S OfLICH

(0|2 27}) MSE = 0|7 Ble} 2%0| X108 € ~ (p + 1)0[Ct

g
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IR Gl

Ol STRIXES B Prediction REsidual Sum of Squares) PRESS = Z (y; — yzl-))2

L

Yooy ¢ FEH EIERIZ Holst $ DES £Hs S T SEMA 0| Hak

[ T 2HEX| Q| Ztx} = (yl o j\}(l))

AIC(Akaike Information Criteria)

AIC =2p —2In(L), L &l 2do| Zchc st

BIC(Bayesian information criterion)

BIC = p *In(n) — 2In(L)

Comment

(FEEEA S Mallow, PRESS S7[2f 018 A2 Ot B~ 750| Z2X|0f et X HEtE NSE & 42|

Folde dY=(X| AT

HAZ=
, PRESS= T54 LHE B 22 B|uY H(B4S0| 25 Roler H9) AEEE2 Je| AFZEICh M2 0t
=4 I:I:|A ‘Eo| x—loHHE |;||—1 )\| Af'g'

Ct
AICBICE HH0H G Z2e Bl A| == AISEICH.

=
o
w
-

22 A% %= Coefficient of Partial Determination

OIE 01 3709| Ol EH7t EXtichE X, X,, X3 2EE 7FIsHAL X 0f ofsl A= g2 o5 HES
= OISR, Xy7H A5t HSS TS} 20| HOJ5HT 012 B2 ZARetBict
230 SSE(X,) SSE(X))
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A EH =~ MEH i
Backward XX
HE 0|SHLE 025 DY R2lSHK| 22 0f|SH-E S K| HsH= —E0ICE

- TR{E| OB DF elet F IS4 5 TR ROI5HK| 2(R2IEB0] 1 2) SHAE A
+ 7F5 ROIBHR| LK 22 S 7 Znt R2I5HK] 943 FR(O0] 7HS K12 S #4E olDjaict
SSEx(no X,) — SSE
MSE;

~F(n—-p-1)

- D= O SHLIF ROl W7HK| #lo] I-ES BhSsltt

HZEIAFR! forward

1) Dz oS S HHH(SSR)O| 7F =1(RISEO| 71 212) HY0| folstH HapE MENSITY,
SSR(X
. X0 (1,n—2)
MSE(X,)

(SSR(X,, | X,)0| 7 2) 1 Mi=io| Qolst AR X 2 2utmfz Metsict
SSR(X,, X)) — SSR(X
.max ( k m) ( k) ~F(ln—2)
MSEX, X,,)

QI3 OEH47H S4S PR 0] HIS HIEBIC

stepwise THAlAH

2(stepwise)= Forward 280 SAFSHK|2F SHEH MEHE] MBH B0 CHoiAM = R2|4 ZHES CHA| AA|
Ol =Lt

- TR{El 0S4 B MP(SSR(X,))0| 71 ET(R2IZIE0| 718 BH2) Mefzio| RolsiRl #4S
PN

k

g: e %OE%M

QOIS OIS EIATL ERYEHR| 242 TRIX| Slokg sttt

€
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[S|F=24M]

df_clean.shape,df_clean.columns

O ((59, 15),
Index([ 'Mortality', 'JanTemp', 'JulyTemp', 'RelHum', 'Rain', 'Education',
'PopDensity', '$NonWhite', '%WC', 'pop/house', 'income', 'S02Pot’',

'NOx', 'log HCPot', 'log NOxPot'],

[SZIH|A]

y=df_clean['Mortality']
X=df_clean.drop(columns=['Mortality'])
#Backward Elimination

sig_level=0.2

cols = list(X.columns)

pmax = 1

while (len(cols)>0):

p= []

X_1 = X[cols]

X_1 = sm.add_constant(X_1)

model = sm.OLS(y,X_1).fit()

p = pd. Series(model. pvalues.values[1:],index = cols)

pmax = max(p)
feature_with_p_max = p.idxmax()
if(pmax>sig_level):
cols.remove(feature_with_p_max)
else:
break
selected _features BE = cols
print(selected_features_BE)

SH0|E HyMES] FR DA HMER (HE
Of mOIM2 UFMA o

I AHE HElgh 0| =ZAZH0| YHOHYY tHREE0| MUY LYOIZZ TTIYY
Y2 HColE ZES AESHH EiCt,

Re+E 0.22 510 X0 20%0(A Folgh H40H MEHSITE, (0.15~0.3 2E, 7ts
StH 2 o|FtHs MEiSIRL )

+F:wx“* Fald 242 1)0sE34d =X L 2) 3R = AFEC.

=

> ['JanTemp', 'Rain', 'Education', '$NonWhite', '$WC', 'pop/house’', 'NOx', 'log_NOxPot']

S
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(2]7=M] (GRSl

import statsmodels.api as sm
y=df_clean['Mortality']
X=sm.add_constant(df_clean[selected_features_BE])
fit=sm.OLS(y, X).fit()

fit.summary()

32N 21 oldtiz B E8Hes 20%0M R2l5IT.

coef stderr t P>Itl [0.025 0.975]
const  1282.3987 168.975 7.589 0.000 943.002 1621.796
JanTemp -2.2540 0.611 -3.690 0.001 -3.481 -1.027
Rain 1.5351 0.538 2.853 0.006 0.454 2.616
Education -12.2127 7.147 -1.709 0.094 -26.569 2.143
%NonWhite 4.5873 0.749 6.125 0.000 3.083 6.092
%WC  -1.8660 1.046 -1.784 0.080 -3.967 0.235
pop/house -63.9892 36.147 -1.770 0.083 -136.593 8.615
NOx -0.2512 0.164 -1.5300.132-0.581 0.078
log_NOxPot 23.6629 . 3.989 0.000 11.749 35.576

2% 5172 Mot el DEH|D

ME o= T E B9 = £|X 2E MENSIIX| S = MAE(Mean Absolute Error @& FEELCH),
MSE(Mean Sgaured Error @XFE#AtSE!), RMSE(Root Mean Sgaured Error XESE Mleg ) LE M ZEA 4 4f
2 H|wett

H=H|0[E 27| 1 n0|1 OLS SHHS HX|(FFR) : 9,21 4%

1 .
.MAE=;Z|YZ-—Y,-|

1 N
.MSE == (Y,— Y2, RMSE = \/(MSE)
n
ME2 Atz (E=237| n*) 85110 ™ol o532 Ef%% off 2l5h AlLrsto] 2t S B|weith HaAks
n*
210 Z 2%} Mean Square Prediction Error MSPE = — Z (y; — 9,)°

ME2 Atz 2 3|7 ZES oIS W 01X Az0i|M e 27| 2adnt fAGHH FHE 27 22 ECf
“FEF%*—’F— UCE MZ2 Atz ~El0] 27 K58 BR0ll= HI0[H S splittingsto] 2=F H|0|E{2} 0| = H|O[E

FHEEALEPRESS, AIC, SBCO]| 2|8 Z[A 2|72 MEI2 Of| 5Tt M2 THE OES Blug i ARBEl=
S/IZo|ct
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a=a

o

b

| 2E EM = AT Z|CHot S st

SSR

et

def processSubset(feature_set):
# Fit model on feature_set and calculate RSS
model = sm.OLS(y,X[list(feature_set)])
regr = model.fit()
RSS = ((regr.predict(X[list(feature_set)]) - y) *x 2).sum()
return {"model":regr, "RSS":RSS}
def getBest(k):
tic = time.time()
results = []
for combo in itertools.combinations(X.columns, k):
results.append(processSubset(combo))
# Wrap everything up in a nice dataframe
models = pd.DataFrame(results)
# Choose the model with the highest RSS
best_model = models.loc[models['RSS'].argmin()]
toc = time.time()
print("Processed", models.shape[0], "models on", Kk,
"predictors in", (toc-tic), '"seconds.'")
# Return the best model, along with some other useful
information about the model
return best_model
import time
import itertools
models_best = pd.DataFrame(columns=["RSS", "model"])
tic = time.time()
for i in range(1,X.shapel1]):
models_best.loc[i] = getBest(i)
# subet preocessing ...

SSR(EHHSE) 7I1& /i o =X (SSR 7t& 2) oFHs, 270 & o 7t =H He
T, ., OlF 422 OFHs JieTE 278N 2 HyadES HESH0

models_best XZ&SICH, = Ji7F 770 2N HaL2E E=otH CH2at ZCh.
models_best.loc[8,"model"].model.exog_names #&% constant =&

print(models_best.loc[8,”model”].summary()) #3|#Fd Zot &=

coef std err t P>t
const 955.5930 47.829 19.980 0.000
JanTemp -1.8070 0.525 -3.441 0.001
Rain 1.7320 0.506 3.420 0.001
PopDensity 0.0061 0.004 1.680 0.099
$NonWhite 4.1307 0.619 6.672 0.000
$WC -2.5796 0.950 -2.716 0.009
loa HCPot -15.6012 12.664 -1.232 0.224 ZXALR2=75%

pY
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(2]7=M] (GEaE e YS10)

0
11

e} O]{ T2 4

L=

Data Spilit

train and test data

CHE2F BI|0|E{2] A<R0ll= H|O[E MIEE 223} 510 ¥ F45h= H|0[E{(EH T|0|H train dataset), &
DHE 012010 0| Y E Ttot=H|(E7}) 2&8%|= H|0|H(HSB test dataset) 2 EESICE LetH o=

8252 732=% Lkl 0= 0|52 2| utXgtut underfitting EXIZ 257 | (o104 DAl 7ol |
OHEI EHHO|CE. 0|2 5] MEX| 242 ZHHO|CL 0|F T|0|E{0t0| oA H|O[E{E 3LHA, train, validation,
test CI|O|E 2 L= 240 RALSICH

Dataset

Training Testing | Holdout Method

Cross Validation ‘ ’

B RN ey

Data Permitting:

’ Training ‘ Validation | Testing | Training, Validation, Testing
L 9
\\\:/// Joseph Nelson @josephofiowa

cross validation Z 0|%

= H|0|H2} AS HIO|He| AZSI0| 2212{7} Ot AR X7 LMSH T =21 |05 7 E5 #H2lo]| 2l 2f
ZE| QUTHH DRSS EX|7HLEMSICE o2 S0 26| ASeF0| =2 ATH0| =2 H|0[H o] 0| Zete|o]
QUCHH? SHHO| H|O|H AZSI0]| 2f$t 2M 2 ==l HEHE =0t

I<-Folds Cross ValidationOf|A &2 H|0|E{= k 7}e| CIE B2 RIgto 2 LE=L} k-1 B2 XehS AF25101 H|0]
EE =3A|7| 10 OFK|8 B2 2I5HS B|AE H|0|E = 510 S0 EICt O IPEE kiH HM AHbHEl Hete

Gos 28 H|0|E et 2 5P| £|0 121 ChZ A5 HIO0[E MIEO| thst STt

[] Validation Set

- Training Set

Round 1 Round 2 Round 3 Round 10

Xalidatiorf 93% 90% 91% 95%
ccuracy:

Final Accuracy = Average(Round 1, Round 2, ...)
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Underfitting

overfitting

[OfeiCh 22| LER & g Hes BH 2 ol
K2 22 et 2ol & 7HseHA[?) Mefet E%*OJXI O| = E1|0|E101| FHEReR| & 4= BlCkE AROICE
EEX] 0] Bl HF B2 S )71 EXffols 49 2l 8 22 23 H|0[H0fM D Z=totX|at
2[R 2 = M=22 H|0[E o= F2okA] i35 o= Tt

O] Tl ZutE Litelol1l LIE HO|E, & S=H2 2 w-llslad= Ao]| thisl =2 & 4~ §iZ= 2lolet
A

Ct 7 (28 o= npAgo] LdlsiH 2E=2 E1|0|E1 | B 7F AIH| 20 Tl ob5 H|0[E 2| "= 0| =" st&sHA
Lt 25 2|22 0] L=0[=7F 2ete|of QUX| 52 (AB)HI0|E MEO = & e o= S| EIL.

underfitting

= H|O|E{0]] MetSHK| 2B 2 H|0[ES] FMHIE =X

g gael=}
Z|0q ot Y 2HE M 0K 2 dtet & 4~ §igS 2[0[EiTt

Ol D ZITtet B (BE6H 0|5 M / =& M7 0fE)2| Zatz 4130] Of! C|OfEof| 43 23 (Of] « M
3 31702 M & s WAst 4 QICk 0] DY olfE 52{0| £X| 242 Z40|0{ 221 Ho|EfollA CIE ClofE|=
oluf;|_%k A O{29 oF A o||:|.

=1 = T HAo= =2 T A

A
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L1 and L2 Regularization

i1 MEH |60 Ef )

—

et ZHIE sliEsk | elet Tx 2] 2ol 5

Norm [ X, ] = () [x|")"

siEfo| 37| B2 = HiE(Q| 722 EHsHe
olzt stk

- L, : M5t (Manhattan) 742[0|Ct.

- L, 5 : §22|C|2kEudeadian) 720

Regularization Etaf, LEtst 7HE

DS FHSICH= A2 2EX(0f| 718 Mgt
ot IS &h= A2UH| Of= Jlef &7t A
Of| (A2 M) S+t uiafet Buk=2il=
2 YO QUCE AP O 2 HEE AL
ot A et CHE AutyH st
Ol= (P g0l 2SE) 2EHE2 B
74 Mt ot E FHGIRIC D E O &
0| SYSIT]

g2 F-ot= B0l St oS!
of 2IaH At te|= &4Ag~(loss function,

Loss function &&&t= L(y;, §;)

Dedels: Ly ) = D 1y — il

» Least absolute deviations(LAD), Least absolute Errors(LAE)

L2aus: L(y, §;) = Z i =

» Least squares error(LSE)

?
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0rl

Ict

—

8t220|C} p=52] 4E Q0[5 p=10/8 L, 5, p=20|H L=

3.

v r T
» Data simulated from f

True f

Linear estimate of f

Polynomial estimate of f, m=3
Polynomial estimate of f, m=20
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L1 Regularization

Lasso Regression (Least Absolute Shrinkage and Selection Operator)

LU OLS(L(y, 5)) + 4 ) 18|

. A=0074 OLS T SU5t1 A7} FK|H 5|74 Geo| Zopx BpA%{gto] EILt,

- SHHES0| STV AER 0 5H2| 2| AE A7IE FlAst 5t FYEot 2 0| FHS2| 2|75

— -
510 =2 0| =4 feature selection’of| AFREICH

Ridge Regression 55 5|7EA]

SUE OLS(L(y.9)) +4 ) |57

Features Enginerring

Feature AMEH

Feature =%| L= Feature EQ T 20I5H= 1O 2 TQ HMFQ AS)0| FEXIGHS MEISIHLE 2ZQsHE
QEHK| 42) HAES MI7H510{ B0 XIRIH4)2 E0|=H| 2 SH0| QUL £
BR= E2|9 ML QI24E ST =002 0|2 HId510] EX H2 ST = 02 4~ QICt 3|2 Ho|

HOOj= Ro| HapiH 2 T3|5S Saf s Medo| hs3lct

Feature MEHY |#10{j= A2HE A4 1p EIT |HEEMHOI | 3550 Regression, Recursive Feature Elimination, Tree-based
Model, (Logistics) Discriminant Analysis S0| /Lt

Feature &=
LIH|0|H HpE0| LA 212 &80t MER HE MASIHLHIXIRIS| 3712 MAIRIe| ME22 572

2 XIEA) HAE 70| MAHAE 4 QAN ME 2 5104 FeatureZ EFAGHTE PCA, SVD XS4 i
11| QoI5 472 OHE = Canonical Correlation Analysis(CCA) £0| Feature =2 1M
o| gHH=0|C

g
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LASSO 2

C|0|E] 242 S (hrinkage) - S4IK BRO 2 S5}

ol

4>
g
OII
H1 ﬂJIo
I‘D
S
a
Rl
rr
I
FEl
II
g
rII
o
mo
HL
0
2t
X
=
ol
i
=
AN
T

- A = oo 1 2= 0| FHS2| 3|77} 00] =[O 2= Of|F 4 HIAEIC,

- A7} B716MH 8 0= S716ka HAEl= 0| EH2] 4= BOFEITY.

=T L LS
« | 2HCH= AIC, BICE £| A5} 5H= BICE 18ICtH
Minimizing Information Criteria

AIC, 4, = nin(e' e) + 2df, ;400 BIC, 40, = nin(e'e) + 2djf,

ridge

In(n)

dfigge = 1r(X'X + A2 MR, OLSO| ER df, ¢ = tr(X'X) = pOICt

Linear Regression Cost function

W ‘

Lasso Regression Ridge Regression

B+ B =t

?
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A B3t OLS(L(y, $)) + 4 ) 1B D

= et Cf

EAOMM =

ZH| ZICts)

SNSRI

=k

217
!

O|
rr

7271 5104|A OLS2| SSEE %

[(34/66]


http://wolfpack.hnu.ac.kr

(3l 7=A) GESSERTETGIZEN)

« 3| YO| B4 MEH2 f regression 0]0{ F-SH| &0 2|sH
HO|0 CIZE=100(C E|TH 7H2f R2f§t H4 7= CHECT

ZIE HH RO[g H410707HX| (pop_density_log) O[Ct 72|2tE 5% O[5t
3

BE B &2

7| 20|12 &EAle FeletEt ST,

Dlof i B

MOl RO[5t 0| FH,E MEHSH= HR chi2E AMBSI yi= BHEA| E=0|0{0F SiCL y =

np.array(y).astype(int)

df clean . info( ) <class 'pandas.core.frame.DataFrame'>
Index: 59 entries, Akron to Youngstown-Warren
Data columns (total 15 columns):
#  Column Non-Null Count Dtype
0 Mortality 59 non-null float64
1 JanTemp 59 non-null int64
O:IIX-” EIlOlE-I n_597H EA' 2 JulyTemp 59 non-null inté64
ZEEHL 1 Mo rtallty 3 RelHum 59 non-null int64
= 4 Rain 59 non-null inté64
=H{A Hy{ A
I_' '—:L'_ . L'I-D-le '—:‘T 5 Education 59 non-null float64
6 PopDensity 59 non-null int64
o X|M HIA JHAE slodie _ slo 2H 7 $NonWhite 59 non-null floaté64
"'l_‘l_‘—"_ S 7= I:“:' tod, 8  sWC 59 non-null float64
?3'0'": 77HD|_|' 1, LI'D'IX': 2, 3, 4 .. 9 pop/house 59 non-null float64
A O MEHE|[C] 10 income 59 non-null floaté64d
=28 MEE. 11 s02Pot 59 non-null int64
12 NOx 59 non-null int64
13 log_HCPot 59 non-null floaté64
14 log_NOxPot 59 non-null float64

import numpy as np

from sklearn.feature_selection import SelectKBest

from sklearn.feature_selection import f_reg '
y=df_clean['Mortality']

X=df_clean.iloc[:,1:15]

bestfeatures = SelectkBest(score_func=f_regression, k=10)
#default k=10

fit=bestfeatures.fit(X,y)

dfpvalues = pd.DataFrame(fit.pvalues_)

dfscores = pd.DataFrame(fit.scores_

dfcolumns = pd.DataFrame(X.columns)

#concat two dataframes for better visualization

featureScores = pd.concat([dfcolumns,dfscores,dfpvalues],axis=1)
featureScores.columns = ['Specs', 'Score', 'pvalues'] #naming the
dataframe columns

print(featureScores.nlargest(7,'Score')) #print best features
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EEER) GESSEREEFE

S Specs Score pvalues [ 'EZEZZm’ '

6 $NonWhite 40.944 0.000 nanse P

4 Education 19.835 0.000 'Raln P
3 Rain 13.161 0.001 'POPDenﬁltg ’
10 S02Pot 12.146 0.001 '%NO?Whlte '
8 pop/house 8.929 0.004 '%WC , '

1 JulyTemp 6.586 0.013 'log_HCPot :
7 $WC 5.208 0.026 [SSR BBest Model] log_NOxPot']

CHE

select_vars=featureScores.loc[featureScores['pvalues']<0.1,:]1['Specs"']

NE oEHo| ROARE(SH

import statsmodels.api as sm
y=df_clean['Mortality']
X=sm.add_constant(df_clean[select_vars])
fit=sm.0OLS(y, X).fit()

fit.summary()

coef stderr t P>Itl [0.025 0.975]

1 JulyTemp const  1004.8457 216.614 4.639 0.000 569.314 1440.378
3 Rain JulyTemp -2.0680 1.683 -1.2290.225 -5.451 1.315
4 Education Rain 16587 0588 2820 0.007 0476 2841
5 PopDensity Education -3.8393 9.106 -0.422 0.675 -22.148 14.470
. PopDensity 0.0067  0.004 1.544 0.129 -0.002 0.015

6 #NonWhite %NonWhite 3.6842  0.892 4.130 0.000 1.891 5.478
7 EWC %WC  -2.1983 1.273 -1.727 0.091 -4.758 0.362
8 pop/house pop/house 32.9814 32.067 1.029 0.309 -31.493 97.456
9 income income -0.0009 0.001 -0.669 0.506 -0.004 0.002
10 S02Pot S02Pot 0.2160 0.116 1.863 0.069 -0.017 0.449
13 log_NOxPot [Z4%{74| 27150 '09-NOXPot 46740  7.809 0,599 0.552 -11.027 20.375
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Recursive Feature Elimination : %! M|t S

y=df_clean['Mortality']
X=df_clean.iloc[:,1:15]

from sklearn.feature_selection import RFE
from sklearn.svm import SVR

estimator = SVR(kernel="linear")

selector = RFE(estimator, 7, step=1) #ZX 77 #H40

selector = selector.fit(X, y)

print(X.columns, '\n', selector.support_,'\n',selector.ranking_)

Index(['JanTemp', 'JulyTemp', 'RelHum', 'Rain', 'Education', 'PopDensity',
'$NonWhite', '8%WC', 'pop/house', 'income', 'S02Pot', 'NOx', 'log HCPot',
'log_NOxPot'],

dtype='object')
[ True True False True False False True True False False False False
True True]
[11416811273511]

import numpy as np
var_select=pd.DataFrame(np.transpose([np.array(X.columns),selecto
r.ranking_1))

var_select.columns=['var_name', 'rank']
var_select.loc[var_select['rank']==1,"var_name"]

Specs Score pvalues

JanTemp $NonWhite 40.944 0.000
JulyTewp Education 19.835 .000
Rain Rain 13.161 .001
$NonWhite S02Pot 12.146 .001
SWC pop/house .929 .004
log_HCPot JulyTemp .586 .013
log_NOxPot SWC .208 .026

'JanTemp ',
'Rain',
'PopDensity’,
'$NonWhite',
"swWC',
'log_HCPot',
'log_NOxPot']

HNU Dept. of Statistics http://wolfpack.hnu.ac.kr (37/66]
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import numpy as np
var_select=pd.DataFrame(np.transpose([np.array(X.columns),selecto
r.ranking_1))

var_select.columns=['var_name', 'rank']
var_select.loc[var_select|['rank']l==1,"var_name"]

JanTemp
JulyTemp
Rain
$NonWhite
$WC
log_HCPot
log_NOxPot

import statsmodels.api as sm
y=df_clean['Mortality"']
X=sm.add_constant(df_clean[var_select.loc[var_select['rank']==1,"var_name"]])
fit=sm.0LS(y,X).fit()

fit.summary()

coef stderr t P>ltl [0.025 0.975]
const  1020.2165 130.341 7.827 0.000 758.545 1281.888
JanTemp -1.8706 0.548 -3.416 0.001 -2.970 -0.771

JulyTemp -1.0306 1.695 -0.608 0.546 -4.433 2.371
Rain 1.9783 0.496 3.987 0.000 0.982 2974
%NonWhite 4.3129 0.803 5.370 0.000 2.701 5.925
%WC  -2.0109 0.938 -2.1450.037 -3.893 -0.129
log_HCPot -21.5781 14.598 -1.478 0.146 -50.886 7.729
log_NOxPot 37.2523 11.963 3.114 0.003 13.236 61.269
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LASSO

from sklearn import linear_model

import matplotlib.pyplot as plt
lassoReg=linear_model.Lasso(alpha=0.1, fit_intercept=True,
normalize=True)

y=df_clean['Mortality']

X=df_clean.iloc[:,1:15]

fit=1lassoReqg.fit(X,y)
plt.title('Reg. Coefficients of (Motality)')
plt.plot(fit.coef_); plt.show()

AL 3717 2(HYE EFS SIUSOZ §|FA4¢ FI7|7F Arcts A2 &L
CHst Qet=ot 3tk AS 2lolstct,  7H++3+ > LOG_NOxPot > Education >
%NonWhite > log_HCPot #2Z ZEHM4 Mortalityo| ¥&2 0O|EICEH,

Var Coeff
0 JanTemp -1.534
1 JulyTemp  -0.816

3 Rain 1.429

4 Education  -7.229

5 PopDensity  0.004

6  %NonWhite 4.337

7 %WC  -1.887

) ! 8 pop/house -23.376

Reg. Coefficients of (Motality)

E 9 income  -0.000 G o JanTemp
s 10 S02Pot  0.110 4 Education
0 6 %$NonWhite
_: 11 NOx  -0.165 7 SWC
s 12 log_HCPot -2.752 8 pop/house
2 12 log_ HCPot
R B e Jo L NGl ) 13 log_NOxPot

var_nm=pd.Series(X.columns,name="'Var')
coeff=pd.Series(fit.coef_,name="'Coeff"'
LASSO=pd.concat([var_nm,coeff],axis=1)
LASSO[abs (LASSO['Coeff" ])>@] #E'= oS &4

LASSO_res=LASSO[abs(LASSO['Coeff'])>1.5]['Var'] #22 ME{ (774)

import statsmodels.api as sm
y=df_clean['Mortality"]
X=sm.add_constant(df_clean[LASSO_res])
fit=sm.OLS(y,X).fit()

fit.summary()
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(3|7=2A] (4~ MER-EIE|O[E{EHH)
£ oA 2%
CiE 3MY RIEH S £[F 3|FEIT Mol Mo = Rolsho|SHS-ES MENSH ZRII QL KBt =2 F2
St 2 MEHSH= B2 T2 Chgut 20
- O|Eta0| BEUIA0| HES 715 & MYSH=T}? <=> ZA74 (SR Best Mode)
- O SHAE Q015172 7 Q014 (MZAZ, Univariate Selection), 25 QoA (SEIH|7), REF
- 1 e pie M
A 25w Mo
Univaiate selection SSR Best SEHHa =02 RFE 24
a=0.1 (771 AEH) (77H AEt)
B ; Julyii‘i ['const', 'JanTemp', JanTemp
4 Education 'JanTemp', 'Rain’, JulyTemp
5 PopDensity ' s ot ' . ' .
6 $NonWhite . Rain . . . Educatl.'on ' Y Rain
- SHC PopDensity', $NonWhite', $NonWhite
8 pop/house '$NonWhite', 'swc', SWC
9 income "SWC' "o /house '
10 802Pot | ' . poP ! log HCPot
13 log_NOxPot log HCPot', 'NOx', —_—
'log_NOxPot'] 'log NoxPot'] 109_NOxPot

Mortality JanTemp JulyTemp

Mortality [ 50:016" 0.322
JanTemp -0.016 [EKICHo322 |
JulyTemp 0322 0322 [
RelHum [0.101 0086 X
Rain 0433 0.059 0472 |
2 L.ASSO res Education [[JECJJJo.108  [OI265N
- >opDensity 0.252  [0:076 1 -0.009 |
%NonWhite 0.647 0459  0.602 |
0 JanTemp %WC [0289110.208 -0013 |
4 Education popmouse 0368 [KEZ o257 |
6 $NonWhite income [0I28800.198  [OHSTIN
7 FWC S02Pot 0.419 01094 0071 |
8 pop/house NOx  -0.085 0.334 [OISSANN!
12 log_HCPot log_HCPot 0.125 0227 [AEE'
13 log NOxPot og_NOxPot 0.280 0.181
July 7122 SEHHA0} I QO|MARIH|4=0,322) SHOIAMS JarTemp
£ oS40t 81| QICHH SEiHso| MHHCTIS o SH4ST S,

A4 S0l JulyTernp €2t JanTemp Q2| E 0ISH4~(E5| 2|6t

o2 STIHHR
O 5142
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S2Ey = Xb + ¢2l OIS FHRIE D = (X'X)™' X/y0ICk o &t#H4(X)) 710 Mgt &
Of MR} (H|0[E] 0| B A(HI4)0| CHE T4 ARG} 2 B2 B3iE|D

T AEHSO| G =™
adj(X'X
det| X'X| = 0=E22X'X = #Q Zf0| 0§ HZIC
det| X'X|

02 ¢ 3f01 OLS ZHx| b = (X'X)~'X'y0|2& F5zlo0| EQlaHEICt - CIFBAMN 2RIS Yo7 K| o
0| 3|7 A0l HIsH H150| AHEICE. - S|HEH| 22 #3510l = 3| FAl2

- 2|7 OLS FHO| 2HEMs2(b) = MSEX'X)™") 5t 0§ 7K 3|71/7|4:0| HE7HX| Hil= 2|
5t

 S|1HA Y AP HAHXHE F=F ﬁi*Eﬂ%*OﬂIﬂ =N, 2|?|71|* FolMe HEtsh= Rel=tE(p-zholl
Ciet M2IME SOFRICE - F 3| Ae Reld A2l A=Y Kot -> 8 3|#2d ¢1=2|d Lot

A HEEA| S ASHOF SHt?

Ci2e| d271 =40 [21H 20| siEde o= QiCh

0| Z(prediction)0| =&Q1 Z<L =

CIESMYE 3| AIS FHA0| FES A2 2o Mot of|S0ll= S FX| Z=Lf 20/ o522

=0|= 2P} Q2. ZE7|4=(Determination Coefficient)?t &0}

ZEXOR HH0[H2| o2 JiFoiM= TS S Y =S Tt 2E 8l

|

2|31 29 L 0|54 32| AS B2V HEHES) 2l F22F SYSITHA TITHSHK] 20H: EICt

=T

SHESE U= 2o 2 02 TISSMd X7t it si2e 2R 813

The fact that some or all predictor variables are correlated among themselves does not, in general, inhibit our
ability to obtain a good fit nor does it tend to affect inferences about mean responses or predictions of
new observations. —Applied Linear Statistical Models, p289, 4th Edition.

Baron, R. M. and Kenny, D. A (1986) "The Moderator(Z=)-Mediator(O§7H) Variable”

Y

€
s HNU Dept. of Statistics http://wolfpack.hnu.ac.kr 42/661



http://wolfpack.hnu.ac.kr

(2]7=M]

Oi7H& 1} Meditator
(SH =)
step2
EELE e
stepl

(_EA-|1)y =a+ bIIX + e bll %9|3HOF@Ef_

@My = a + by Me + e : by, RISHOFEIC

O 7H £ == (Mme)
/ = step3 \-

SEHER(Y)

(_)'n_\_A-|3)y =a++ b31X + b32M€ +e: b32 (DH7H§LJ_-'|') ‘IQI'9-|8|'—T'— b318 b] ]EEI- EEHg}tol 7£||'O|‘X|7‘|L_|' ‘IQI'—Q-l

N

X*MO X}&t

 by= HICA| ROlHo} B
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S|

Of|X|H|O]E] df_clean

Mortality JanTemp JulyTemp RelHum Rain Education PopDensity %NonWhite %WC pop/house income S02Pot NOx log_HCPot log_NOxPot
Mortality IR -0016"70.322 (01101 0.433 [EI 0.252 0647  [Foses  EEEEN0.419 [0.0850.125 0.280
JanTemp -0.016 [EICHEM0322 0086 0.059 0.108  FOIOZENNNN 0.459 0.208 [OIS250 0.198 01094 0.334 0.227 0.181
sulyTemp 0322 0322 NSO EOZZENN0.472 FO/Z6SMIN 0100870602 00180257  [oNGHN Foio7AN F0EA I oSN
RelHum 0,101 006  EXZENN(KCON ‘0,118 0.186  [OWASHNN OGN 0.015 ©0.144770.128 (OB 0.0530.185  0.097
Y N RPN R 000 [0.478 [ RN O I XCRN 0862 | |0.460[0.485 0389 |
Education [ETI0.108  EBSNNN 0.186  EOLZ| (RO PSP  0 466 [ET 0507 [Pl 0229 0.476 0082
PopDensity 0.252 010761111 -0.009 011497 0.084 :0:2367 1 (XM 01007 0.253 F01167 11 -0:003  0.422 0.158 0.264 0.339
%NonWhite 0647 0459 0602 0119 0303 0208 0007 KN 00570353 040110160 0019 0.148  0.208
%WC [0i28910.208  -0.013 0015 -0.114048  0.253 0057 () FOIS47 0.366  [01063M 0.129 0.162 0.108
pop/house 0.368 RPEJJo.257 0144 0.199 [OISESIIN IR 0.353 -0.347]1.000  [-0:295 [oiTN-0.449f - BRI R R
income [0I2830]0.198  FOMOIN0.128 0868 0.507  [0:003 " EONOHNNNN 0.366 FOI295NN (NI 0:068 |0.312 0.292 0.245
S02Pot 0419  [0.08477-0071  [0.416 0131022970422 0160  :0063-0.010 0068 [EIIN0406 0.569 0681
NOx 0085 033 [OGGANNI00s3 [EEH0220 0158 009NN 0.120 EXZINEN0312 0406 [K)O78BNNN0705
log_HCPot 0.125 0.227 EWiFNMlo.185 [ WEEo0.176  0.264 0148 0.162 02240 0.292 0.569 0:738) [CITIN CCEI
log_NOxPot 0.280  0.181  [OIS08Il0.097 [0I88§0.032  0.339 0.208 0.108 01237 0.245 0681  0:705 [N ET

AZEX|S(Mortality)2t & 224|717 =20 HY 2 2shs) HI#4RIH|Z(%NonWhite)2t 727 |2

« H|HHQIH|S T JEIZADT} O AOLT SHHASCME 2R =2 B BWCAEE HIZ) &Y

import statsmodels.api as sm
y=df_clean['Mortality']
X-sm add constant(df clean['%NonWhite'])

EX|4 4,485713

coef stderr t  P>ltl [0.025 0.975]
const 887.9018 10.412 85.274 0.000 867.051 908.752
%NonWhite 4.4855 0.701 6.399 0.000 3.082 5.889

(H[EHRIH|E, 787[2) > AMUEX|F 2

import statsmodels.api as sm

y=df_clean['Mortality"']
X=sm.add_constant(df_clean[['sNonWhite"', 'JulyTemp']])
fit=sm.0OLS(y,X).fit()

fit.summary()
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« 2G5 E71 012 0|0[SH B IH|Z 2| =H XK (std erm)e 0.701->0.8822 =0 - LESSMY
O

- EotHHRl BlE AR 448-> 492 2 TV, 7127 |(Feh)0] HS0| ofg!

- LSS 2X 2l B0 Fe LIEHTE

[2] The condition number is large, 2.63e+05. This might indicate that there are
strong multicollinearity or other numerical problems.

coef stderr t P>ltl [0.025 0.975]
const 989.6236 122.238 8.096 0.000 744.752 1234.495

%NonWhite 4.9284 0.880 5.598 0.000 3.165 6.692
JulyTemp -1.4378 1.721 -0.835 0.407 -4.886 2.011

HIEHQI H|E, AFFAHIS (R ) > AYEX |+ 2

import statsmodels.api as sm
y=df_clean['Mortality']

X=sm.add_constant(df_clean[['%NonWhite', "income']])

L SEHS, AYBAI0L AP P WRIBHAHE] B3 B8] H]S0| H5tD He 220 st e

%—E—ém TT— °|'|:|'.
KIS 46 6% 4.8% S7151% 11 HI#Q! H|22| 8 % Kstd e 0.701->0.6682 SHOFE
« SIARCIS7 e 448->438 2 HOIHES, AH ASH I} A2 HH=]

LIESUE En LGS

coef stderr t P>ltl [0.025 0.975]
const 1033.6913 56.358 18.342 0.000 920.794 1146.589

%NonWhite 4.3850 0.668 6.561 0.000 3.046 5.724
%WC  -3.1172 1.186 -2.628 0.011 -5.493 -0.741
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(2]7=M] (CHE34d]

LioM [ = Off|

CO0[E

y=df_clean['Mortality']
X=pd.concat([df_clean[selected_features_BE],df_clean[['JulyTemp"',

'log_HCPot']1],axis=1)

« felE 0.2 7| & ST B v MEH At selected features BE 87l 0|2 7+ 271 Of|StH~(7
247|2, 27 _HCPot) & 107HZ AF3IICt

- Otz LSSy =8 2l 7t s

[2] The condition number is large, 5.48e+03. This might indicate that there are
strong multicollinearity or other numerical problems.

coef stderr t P>ltl [0.025 0.975]
const  1437.1726 219.686 6.542 0.000 995.465 1878.88(
JanTemp -2.0701 0.623 -3.320 0.002 -3.324 -0.817
Rain 1.3566 0.551 2.463 0.017 0.249 2.464
Education -11.7192 7.335 -1.598 0.117 -26.467 3.029
%NonWhite 5.1329 0.910 5.640 0.000 3.303  6.963

%WC  -1.7022 1.060 -1.606 0.115 -3.833 0.429
pop/house -71.4977 36.367 -1.966 0.055 -144.618 1.623
NOx -0.2454 0.164 -1.493 0.142 -0.576 0.085
log_NOxPot 38.4468 12.409 3.098 0.003 13.498 63.396
JulyTemp -1.6720 1.662 -1.006 0.320 -5.014 1.670
log_HCPot -21.2653 14.465 -1.4700.148 -50.349 7.819

VIF TIEH

from statsmodels.stats.outliers_influence import variance_inflation_factor
def calculate_vif_(X, thresh=10):
variables = list(range(X.shapel[l]))
dropped = True
while dropped:
dropped = False
vif = [variance_inflation_factor(X.iloc[:, variables].values, ix)
for ix in range(X.iloc[:, variables].shape[1])]
maxloc = vif.index(max(vif))
if max(vif) > thresh:
print('dropping \'' + X.iloc[:, variables].columns[maxloc]
"\' at index: ' + str(maxloc))
del variables[maxloc]
dropped = True
print('Remaining variables:"')
print(X.columns[variables])
return X.iloc[:, variables]

X0=calculate_vif_(X)

- 1027|202 47} 4t RIS
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'JulyTemp' at index: 8
'Education’' at index: 2
'pop/house’ at index: 4
'log_HCPot' at index: 6

'$WC' at index: 3
'JanTemp' at index: 0
Remaining variables:
Index([ 'Rain', '%NonWhite', 'NOx', 'log NOxPot'], dtype='object')

import statsmodels.api as sm
y=df_clean['Mortality"]
X=sm.add_constant(X0)
fit=sm.OLS(y,X).fit()
fit.summary()

- LIS SUE A7 SHEEI T Ol Z1E0| E=IE(X] 55« 2E 0I5 7olg!

coef stderr t P>ltl [0.025 0.975]

const  768.2807 26.569 28.917 0.000 715.014 821.548
Rain 2.0495 0.558 3.673 0.001 0.931 3.168
%NonWhite 2.9188 0.659 4.426 0.000 1.597 4.241
NOx -0.4189 0.165 -2.533 0.014 -0.750 -0.087
log_NOxPot 29.4609 6.625 4.447 0.000 16.178 42.744
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]

533]7 Ridge Regression

from sklearn.linear_model import Ridge

y=df_clean['Mortality"]
X=pd.concat([df_clean[selected_features_BE],df_clean[['JulyTemp"',
'log_HCPot']1],axis=1)

clf=Ridge(alpha=0.3) #C|ZE = 1, c2 =L

clf.fit(X, vy)

- LSS0 A7 SHAR|0] O Of e ZnE0| E5%(|X| 43

L3 -

import numpy as np
np.set_printoptions(precision=4,suppress = True
print(clf.intercept_,clf.coef_) #ZH,

> 1342.3689172915895 [ -1.9694 1.4436 -11.1503 4.8775 -1.6304 -51.571 -0.2116 35.395
-1.4915 -17.7813]

1 X.columns

Index(['JanTemp', 'Rain', 'Education',6 '%NonWhite', '$WC', 'pop/house', 'NOx',
'log_NOxPot', 'JulyTemp', 'log_ HCPot'],

1 clf.score(X,y) #Z2™A%

0.7675370846431416

1 clf.predict(x) #X&X|

array([ 947.9143, 932.4409, 933.5402, 974.9881, 1037.8143, 1092.2156,
932.1136, 927.8502, 959.1228, 930.2303, 996.482 , 998.8808,

8 HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [(50/66]
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from sklearn.preprocessing import StandardScaler
y=df_clean['Mortality"]
X=pd.concat([df_clean[selected_features_BE],df_clean[['JulyTemp"',
'log_HCPot']]1],axis=1)
X_s=StandardScaler().fit_transform(X) #scale standardization
from sklearn.decomposition import PCA
pca=PCA(n_components=5) #80% rule 0.8
df_pca=pd.DataFrame(pca.fit_transform(X_s)) #PC variables
df_pca.columns=['PC1','PC2"','PC3"',"'PC4"',"'PC5"]
df_pca.set_index(df_clean. index, inplace=True)

df_pca.head(3)

- n_.components=5 CHA 0.82 AFESHH RIH4 BiE 80%//HK| =4 AHs}

JanTemp

Rain -0.367
Education  0.265 -
%NonWhite -0.096

%WC 0.186 -0.
pop/house  -0.287

NOx 0.441 b -0. . -0. city_name
log_NOxPot 0.401 . -0. -0. . Akron 0.257 -0.
JulyTemp  -0.308 0. - -0. -0. Albany-Schenectady-Troy 0.146 -
log_HCPot  0.450 . -0. -0. X Allentown -1.408 -

B2 40F Jolstn BE Q0|5 - 1oad1ngs(—.-3r
FEE 12 7|F-gd 42, 2= HE#He AF XY

loadings=pd.DataFrame(pca.components_.T)
loadings.set_index(X.columns)

import statsmodels.api as sm
y=df_clean['Mortality']
X=sm.add_constant(df_pca)
fit=sm.OLS(y,X).fit()
fit.summary()

coef stderr t P>Itl [0.025 0.975]
const 941.1731 5.259 178.962 0.000 930.625 951.721
PC1 -8.3836 2.779 -3.017 0.004 -13.957 -2.810
PC2 24.7275 3.595 6.878 0.000 17.517 31.938
PC3 -18.8361 4.108 -4.585 0.000 -27.075 -10.597
PC4 -1.7539 5.583 -0.314 0.755-12.952 9.444
PC5 18.2596 6.474 2.820 0.007 5.274 31.245

33 HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [51/66]
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1 X0.columns

T
&

> Index(['Rain', '%NonWhite', 'NOx', 'log_NOxPot']

import statsmodels.api as sm
y=df_clean['Mortality']
X=sm.add_constant(X0)
fit=sm.OLS(y,X).fit()

=X it O fit QENE XA QUCEH,
*x.fittedvalues, EFSt TtAl *.resid_pearson

.residplot(fit.fittedvalues,fit.resid_pearson, lowess=True)
.title('scatter plot of (yhat vs standard_res)')
.axhline(2)

.axhline(-2)

.show()

scatter plot of (yhat vs standard_res)
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T tiof M4 710| BaE MB(EIMOICE M8 5i7|2%0| 7|2 Jhgolc

37 =EY ﬁﬂﬂl HUSE ot offy Y0 AFE)0M AR TIEH = S5 272> (™) fald
o H =]

O:
o o
At AV SIS el 49 S8 UYd dE 2o

Harvey A. and Collier P. (1977); Testing for Functional Misspecification in Regression Analysis, Journal of
Econometrics 6, 103--119. Johnston, J. (1984); Econometric Methods, Third Edition, McGraw Hill Inc.

import statsmodels.stats.api as sms
sms.linear_harvey_collier(fit)

/usr/local/lib/python3.6/dist-packages/numpy/linalg/linalg.py in _raise linalgerror singular(err, flag)
95
96 def _raise_linalgerror_singular(err, flag):

--=> 97 raise LinAlgError("Singular matrix")

Had 71

Q0| 718 B BHtR 012 7|8 R 3 Frjo] ROl A0l AKEA F-24% 05 40| Q01N 2iHP

A2 7= 7rgolet.
Qb= TIRf0|| ofel| FYED 2 TR Frtd ATt SYSICE

R HO[He= e 2E WEL, / a7 - Era XS W2X| g4=Ct

from scipy.stats import shapiro
shapiro(fit.resid) [0:2]

HESAZOIN 28 g2 RASE(0.9737..) = FHEO| DI
J=Z (HF7He o) E MEL.

(0.9924234747886658, 0.9737654328346252)

e Omni Test : A™YE7Zo|| 28 22 RoEE(0.7667..) =
o e 3= A2ZE (AP obx)E 2L,
e sm.0LS &3ZAxn

[ (0.5312432426752998, 0.7667291865854793)

log_NOxPot 29.4609 6.625 4.447 0.000 16.178 42.744

Omnibus: 0.531 Durbin-Watson: 1.696
Prob(Omnibus): 0.767 Jarque-Bera (JB): 0.537
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import statsmodels.stats.api as sms
sms.jarque_bera(fit.resid) [0:2]

o
—

{ESAZOI 28 2 ]RASE(0.537.)=

e Jarque-Bera Test : &2 a
=x (#2714 X)) E UL,

7k
HA
Qolat=0| 0je ADZ FA= HR
. sm.OLS SZTo| REEAEIY,

(0.5374476144328763, 0.7643543356490612)

Jarque, Carlos M.; Bera, Anil K. (1980). "Efficient tests for
normality, homoscedasticity and serial independence of regression
residuals'". Economics Letters. 6 (3): 255—

259. do0i:10.1016/0165-1765(80)90024-5.

SEH2| 4i0l| 2|ESH0] ZAH0[ AHKX|[ALE A{OHE - %—E—HWSOIE'—WE =40 2 B2 S50 24
Of HgflS B0| S0t 20| Mgt Y7 BoITILl 28 W& + 8IS, Ol 20| =2 2 oYX |7+ 24
2 & Q7| HZO]Ct

Z=RAL 1A 2R fitted line

ORI 1 - o[BS SEANS 2IX| of=Ct
T O XM= SEAMMS M2 02 QX}o| SEAM J1E0| CHEEICE

Breush-Pagan test
Gujarati, Damodar N.; Porter, Dawn C. (2009). Basic Econometrics (Fifth ed.). New York: McGraw-Hill Irwin.

pp. 385-86.

import statsmodels.stats.api as sms
sms.het_breuschpagan(fit.resid,fit.model.exog) [0:2]

« QO|3t2(0.6763..) 2 QOEtE0| IO SEM(FRIIM OIE)S OIEEH},

Y

€
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Goldfeld-Quanat test

Goldfeld, Stephen M.; Quandt, R. E. (June 1965). "Some Tests for Homoscedasticity”. Journal of the American
Statistical Association. 60 (310): 539-547.

import statsmodels.stats.api as sms
sms.het_goldfeldquandt(fit.resid, fit.model.exog) [0:2]

SEM(ARTMY BHE) S

A7t El= fIEHr2 372 L7 | ) X Haot 170 W2t 7hset

p
0|24t heterscedasticity S| H2H v, = a + Z Bixi + €
k=1

[nn

Hat

)4
Vi« -
L= — 4B+ Y Bn(no x) + € (EHESILX,21 HS)
Xi Aki k=1

SenaREy  Sawas 2L mme p ol
Xki

OLSHtI WLS 7FSZ|2ASH AFS

import statsmodels.api as sm

y=df_clean['Mortality']

X=sm.add_constant(X0)

fit=sm.0OLS(y, X).fit()

fitw=sm.WLS(y, X,weights=1./(fit.fittedvalues*xx2)).fit()
fitw.summary()

« 2 OHl= SE4E PSS

[ Ll

o
o fitw Of ME¥EE HE2 et M3

s=Ct= 7Fd stoll 2k offs[olct.
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(&7124) [[7EIt & £Z 0524)

coef stderr t
const 765.2585 26.166 29.246 0.000 712.798 817.719
Rain 2.1369 0.554 3.856 0.000 1.026 3.248

%NonWhite 2.9559 0.685 4.314 0.000 1.582 4.330
NOx -0.4007 0.155 -2.587 0.012 -0.711 -0.090
log_NOxPot 28.9534 6.498 4.456 0.000 15.926 41.980

AAIZ HIO[H2| B2 XFet0| T Xfefe| QXS0 Qs deks 8| &[T k2| S do| nflEICt

Qe ZE0| OfL|H L8401 dHE dFHSIH HESHK| Roh= LE2| wiEH0| EXSIE 2 2 SFF0| =

T 2 )
« Durbin Watson E7|2F > =1 €t

- DW ZEEARIS| 242 2(1 — A0l 2ABICH A 12 (e, ,_)2] MBS (<=> Qfo| 1xE X7 [kt
Aol

- QRPHERIRE [AFEIO| EXHSIX| $£2)012 = 002 DW = 20fl 2Afit

DW 0|8

Reject ]{o : Do not reject Reject H:
positive Inconclusive Ho: No evidence Inconclusive negative
autocorrelation of autocorrelation autocorrelation
l | | | | |
| | | | | |
D d, d, 2 4-d, 4-d; 4

-_—

positive autocorrelation (2FQ] AkHtA))

- FDW < Dy, 22| Apieiio} Exfsicy
«FDW > Dy, X7 |A2H0| ZXf5HA] OH=Ct S2J0]ct

- IfD, < DW < D, B2 L2l 2 8l

negative autocorrelation (2| &f2H2tA)) the test statistic (4 — d)

< If DW > 4 — D;, 32| &22A 7 ExHetCt
< IFDW < 4 — Dy, X7 [&-20| EXSHX| 4=Ct =&I0[Ck

fd—d, < DW < 4 —d, Z2Z U 2 gie
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0| 1R E7| BH(y,_|)S HISHAR AL E4ao 2H2a NV ¥, = (¥, - ¥,_ )2 25

sm.OLS, sm.WLS &35t DW(Durbin Watson) Ats S==ICT

coef stderr t P>Itl [0.025 0.975]
const  768.2807 26.569 28.917 0.000 715.014 821.548
Rain 2.0495 0.558 3.673 0.001 0.931 3.168
%NonWhite 2.9188 0.659 4.426 0.000 1.597 4.241
NOx -0.4189 0.165 -2.533 0.014 -0.750 -0.087
log_NOxPot 29.4609 6.625 4.447 0.000 16.178 42.744

Omnibus: 0.531 Durbin-Watson: 1.696

_ +1 .
BRI SAZ hy; = x(X'X)” gl-h =P (p=tyeH T p =0i|0|E] 4) 28HECH 3 H HEEX|
n
2 Flckst
&=t

* OR| - AH| : 27| 2¥ef Mehd =01y <=> 28I+ =0H

%

oot

x| : BEAE X7 oh= 0| UZ <=> M2lstl 8 2HE 0| Esh= 0] HESIL.
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import statsmodels.api as sm
y=df_clean['Mortality']
X=sm.add_constant(X0)
fit=sm.OLS(y, X).fit()
import matplotlib.pyplot as plt
fig, ax=plt.subplots(figsize=(12,8))
fig=sm.graphics.influence_plot(fit,ax=ax, criterion="cooks")
plt.axvline(10/59)
plt.axhline(2)

.axhline(-2)

title(' ')

, GEX| ZITH 7|1E 2% @4 +1)/59
n Jose, Albany
: Los Angeles, San Francisco, Wprvester, Birmington

%an Francisco

Worcester
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Wrapping Up

Ol & x| H|A

import statsmodels.api as sm
y=df_clean['Mortality"']

X=sm.add_constant(df_clean[['Rain', '%NonWhite', 'NOx', 'log_NOxPot'l])
fit=sm.OLS(y, X).fit()

coef stderr t  P>ltl [0.025 0.975]
const 768.2807 26.569 28.917 0.000 715.014 821.548
Rain 2.0495 0.558 3.673 0.001 0.931 3.168
%NonWhite 2.9188 0.659 4.426 0.000 1.597 4.241
NOx -0.4189 0.165 -2.533 0.014 -0.750 -0.087
log_NOxPot 29.4609 6.625 4.447 0.000 16.178 42.744

« O|YX| 270 HQ =AS

287+ 62%

infl=fit.get_influence()
df _clean.stres=infl.resid_studentized
df_clean2=df_clean[(df_clean.stres<2) & (df_clean.stres>-2)]

df_clean2.shape > (57,

import statsmodels.api as sm

y=df_clean2['Mortality']
X=sm.add_constant(df_clean2[['Rain', '%NonWhite', 'NOx',
'log_NOxPot'1])

fit=sm.0LS(y, X).fit()

fit.summary()

coef stderr t P>ltl [0.025 0.975]
const  780.5340 24.549 31.795 0.000 731.273 829.795
Rain 1.6660 0.522 3.192 0.002 0.619 2.713
%NonWhite 2.9610 0.602 4.918 0.000 1.753 4.169
NOx -0.4758 0.153 -3.120 0.003 -0.782 -0.170
log_NOxPot 31.1068 6.063 5.130 0.000 18.940 43.274 HE2 66.2%2 S7}

import matplotlib.pyplot as plt

fig, ax=plt.subplots(figsize=(12,8))
fig=sm.graphics.influence_plot(fit2,ax=ax, criterion="cooks")
plt.axvline(10/59)

plt.axhline(2);plt.axhline(-2)

plt.title('2 outliers deleted')
plt.show()

o CHA| O|AR| 37§ ZItz|9S(New Orleans, Sandiago, Lancer) : ECt M&bst
OS2YS o™ O|MX| NHE HE TIMsHoF SiCt,
o« oAl S @ Los Angeles, San Francisco, Wprvester, Birmington
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2 outliers deleted

New Orlea
: Q

O

°Q®

®

O Los Angefes
14 [
0 O
©
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)
= @)
3 ° ¢
x | ee
3 e
N ® .
s San Francisco
3 ¢ %o
o ® Worcester
= [
n 1 .
‘ irmingham
=2 1 fego

0.0 01 02 03 0.4 05 06 07 08
H Leverage

E|Z3H2Y  ZEA+=66.2%
Mortality =780 + 1.67 * Rain + 2.96 * NonWhite — 0.47 * NOx + 31.107 * Log(NOxPot)

- 52| Ak NOx(Nitrogen oxides )7 | ZOHEIHE A2 K= SOFRICE 2O Z|L? 7HH “W#ITE%
il?lﬁl# 2SIt MES|ITt off? ZH0I0FSITE 0710| EA[SH0| 1fstQl O|RLE 7HAEh 7HI4(8), BHE Q2 Int
I'_

A, - HREE A E X8 HFe 1Y

Mortality JanTemp JulyTemp RelHum Rain Education PopDensity %NonWhite %WC pop/house income S02Pot NOx |

Mortality [JCIIJI00016710.322 200101 0.433 [UECJ 0.252 0.647 NPEE) 0.368 -0.283 [WFAE]
JanTemp -0.016 [I0J0.322 0.086 0.059 0.108  [0I676MN 0.459 0.208 [0I3250 0.198 0694l
JulyTemp 0322  0.322 (KON TVZE0 0.472 F0i2690 F01009 1 0.602 “0.013 0.257 -0.191 -0.071 -0.334/
RelHum 0,101 0086  XVENNCKTION ‘0.118 .18  EOWASHNN FOFSNNNNN 0.015 0144 0.125 OGN .
Rain 0433 0059 0472  [0:118 " [EINN KN 0.084 0.303 £0:114 0.199 -0.362 |~ |-0.460(4
LOLEUNIN-0.508  [ORLEINNE 750 [RE:CEN-0.473[1.000 |-0.236  [-0.209 0.486 R 0507 [[FEEE0.229 (
PopDensity 0.252  [01076/1]-0.009  F0514977 0.084 [0:2360" [T F0'007 0 0.253 [01167111-0.003 |0.422 0.158 (
%NonWhite 0:647 |0.459  0.602 F0:119"7 0.303 012097 01007 EET I 0057 0.353 501017 0.160 0.019 (
%WC [0i28900.208  -0.013 0.015 -0.114 0.486 0.253 010570 (K15 F0I847 0.366 010831 0.129 (
pop/ouse 0.368 [EZJJ0.257 01447 0.199 [OISESNIN Il 0.353 -0.347[1.000  [-0.295 [FoiliH]-0.449]]
income [012830j0.198  [0FS1Mo.128 [0I88Z0.507 00031 EGHIGTINN 0.366 01255 (NI 0:068 " 0.312 (
So02Pot  0.419  [0I0940 F0:116"|-0.131 10:229777 0.422 0.160 F01063 -0.010  0.068 [ 0.406 [
NOx  -0.085 0334 [0I5340:053 E¥TNo0.229  (0.158 [OERORPEN-0.449  [VEIPRNOENIN1.000 [

log_HCPot 0.125 0227 [W5EJo.185 [E¥EEo0.176 0.264 0.148 0.162 [012240 M 0.292 0.569 0738

log_NOxPot 0.280  0.181  [0iS03J0.097 [0I88§0.032  0.339 0.208 0.108 01123 0.245 [0.681 0:7051[
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ojopH =

pred_int=fit2.get_prediction(X)
pred_int.summary_frame()

X|0|B2 fit2.fittedvalues 2t SY3iCt.

mean mean_se mean_ci_lower mean_ci_upper obs_ci_lower obs_ci_upper

city_name
Akron 943.667 6.428 930.768 956.567 870.214 1017.121
Allentown 909.086 8.792 891.444 926.729 834.653 983.520
Atlanta 999.955 9.752 980.387 1019.524 925.042 1074.868

MER EA[0ISH =02 1=HHT}, 40=42, 15=H[HIH|E, 10=NOx, 2.5=log_NOxPot]2| A=

K& g8 2AL.

pred_new=fit2.get_prediction([1,40,15,10,2.51)
pred_new.summary_frame()

mean mean_se mean_ci_lower mean_ci_upper obs_ci_lower obs_ci_upper

0 964.596 5.564 953.432 975.761 891.427 1037.765
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0I2 2I5l0] G542 BESH o 7 S22 IR B77i4-0] 27 [2oR ojEwIse| HERie 53

import statsmodels.api as sm

y=df_clean2['Mortality']

X=df_clean2[['Rain', '%NonWhite', 'NOx', 'log_NOxPot'l]]
from sklearn.preprocessing import scale
X_std=scale(X,with_mean=True,with_std=True)
fit3=sm.0LS(y, X_std).fit()

fit3.summary()

‘log_NOxPot’'=36.9 > ‘%NonWhite’=26.4 > ‘Nox’'=-22 > ‘Rain’=18 &2
2 3rCt. ‘log_NOxPot'0|EH4= Rainol| H[sll AtZE X|==0f 28{S| JHE Z=
Ct.

coef stderr t P>ltl [0.025 0.975]
x1 18.5815 158.060 0.118 0.907 -298.447 335.610
X2 26.4295 145.913 0.181 0.857 -266.235 319.094
x3 -22.3754 194.712 -0.115 0.909 -412.917 368.166
x4 36.9863 195.739 0.189 0.851 -355.617 429.589

LASSO 24

XZ 27il= X[+ Rain0| NOXOI| BIaH ArdfE X|==0f theh Hefs 27 |7F T

from sklearn import linear_model

import matplotlib.pyplot as plt Var
lassoReg=1linear_model.Lasso(alpha=0.1,
fit_intercept=True, normalize=True) Rain
y=df_clean['Mortality"']

X=df_clean[['Rain', '%NonWhite', 'NOx', %NonWhite

'log_NOxPot']]

fit=1lassoReg.fit(X,y) NOx
var_nm=pd.Series(X.columns,name="'Var")
coeff=pd.Series(fit.coef_,name="'Coeff"' loa NOxPot
LASSO=pd.concat([var_nm, coeff],axis=1) 9-
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